48k ~-MYBR-E 3E#Hl

& B MYBR-EO70 MYBR-E090 MYBR-E120 MYBR-E155
3 55 130 208 342
4 50 140 290 542
5 60 160 330 650
6 55 150 310 600
1 7 50 140 300 550
8 50 140 290 542
10 60 160 330 650
14 50 140 300 550
20 40 100 230 450
12 55 130 208 342
15 55 130 208 342
20 50 140 290 542
25 60 160 330 650
B R T N 30 55 130 208 342
35 60 160 330 650
40 50 140 290 542
50 60 160 330 650
2 60 55 150 310 600
70 60 160 330 650
80 50 140 290 542
100 60 160 330 650
120 150 310 600
140 140 300 550
160 120 260 500
200 100 230 450
BARHEIETs Nm 1,2 3~200 fEEER A
FER A EN rpm 1,2 3~200 5,000 4,000 4,000 3,000
BABAEENs rpm 1,2 3~200 10,000 8,000 8,000 6,000
. . 1 3~20 <6 <6 <6 <6
AL arcmin 2 | 12~200 <9 <9 <9 <9
HERIE Nm/arcmin 1,2 3~200 7 14 25 50
AR E HFas? N 1,2 3~200 1,530 3,250 6,700 9,400
BV JIF 2016 N 1,2 3~200 630 1,300 3,000 4,000
B PR JIF 2006 N 1,2 3~200 765 1,625 3,350 4,700
FER%E® hr 1,2 3~200 20,000*
#IS% 88 MODEL ILLUMINATE WE % ; 1?280 fggﬁ
~ s (]
. 1 3~20 2.1 6.4 13 24.5
- - Bl - A / Bk w8 2 2 a0 25 7.8 4.2 275
! SRR : o ERRE °C 1.2 | 3~200 10°C~+90°C
______ 3 s S SRt S b 1,2 | 3~200 & BB
: ta C ! B SR 1.2 | 3~200 IP65
| RAEA AL, - L v : REHE 1,2 | 3-200 EEHE
: RN C BEHELEE S EeEdW ESiSE ! B E{E (n:=3000rpm ) dB 1,2 | 3~200 <63 | <65 | <68 [ <70 |
! MYBR-E070/MYBR-E090 i : 2 : HiGEE P OkAE R e !
' MYBR-E120/MYBR-E155 P ' P ERIRAEES |
F——. B ACOIOECEE R EEEEREEEEES e R = %8 -MYBR-E 5&iE#l
o ST ; R ! AIREET MYBR-EO70 MYBR-E090 MYBR-E120 MYBR-E155
: Lo : o] 0.35 2.25 6.84 23.4
E RIEEY, © BAZR(L1) : 3,4,5,6,7,8,10,14,20 b " e : 1 8~10 0.07 1.87 6.25 21.8
: TWE(L2) : 12,15,20,25,30,35,40,50,60,70 R - iR 1920 o 187 825 218
80,100,120,140,160,200 Lo : EIRE, kg - cm? - 929 0.5t 225 o84
2 60 0.09 0.35 2.25 6.84
70~100 0.09 0.31 1.87 6.25
xR EHI: MYBR-E090-10-S2-P2/MHMD-082G1U 120~200 0.31 1.87 6.25
1RIRLE (i=Nin/Nout ) 2. 100rpm B, A FHREHPOLE,
CESERBRERASS -2 —.

82.....-0..0. oooou0000083



BIF + |RE + RS

5ME2 R ~HE /OUTLINE DIMENSION SHEET

MYBR-E-070-L1

SN [ INPUT % cga SR / OUTPUT
ocr 285
)
= >
- | S
§8 EJ‘% "E* T —
15 _| 15 [ ‘ %
= &
5 r | Y g
Ll
3
O ’ |
\ \ \
C¥Frr| 8 8
C567
MYBR-E-070-L2
c9 "
SNSR [ INPUT P o Hitids / OUTPUT
oc7 285
() B2 J:
g E]‘ E &N T & — T
15_| 15[ ‘
2 g
s i
iR
3
O ’
|

Q
3
[«]
c10

¥y 4472 /Output Diameter

266.7 4-Mdx12 @8 | 33 @381/ 55 | 60 | o1 | 156 | 7 |775]| 110
* MYBREOT0L1| @70 | 4-Mdx12, 4-M5x12 | 011,014 | 33 | @50 | 55 | 60 | 91 | 156 | 7 | 775 110
u 990 | 4M5x15,4M6x15 | @19 | 42 | @70 | 7 | 80 | o1 | 166 | 9 | 87 |1195
1618 966.7 4-Mdx12 @8 | 33 9381 55 | 60 | 120 | 185 | 7 | 775 110
R S1 AR $2 MYBREOT0-2| 270 | 4-Mdx12,4-M5x12 | 011,614 | 33 | @50 | 55 | 60 | 120 | 185 | 7 | 775 | 110

290 | 4Msx15,4M6x15 | @19 | 42 | @70 | 7 | 80 | 120|195 | 9 | 87 [1195

* CI~CTR AR DIAERIRZ R T, AIRIRE P ERAMEH.
* C1~CTare motor(mefric standard) specific dimensions, which could be customised.

84 ® o 0000 000 0 0

BIF + |RE + RS

M R~FE /OUTLINE DIMENSION SHEET

MYBR-E-090-L1

HINSE [ INPUT m g: i / OUTPUT

ocr 36.5

290
@68h7
|
F
2
293

melE
c2 ol L 5
f
i S
T WT?? O ]
| 8l | §
Cs67
MYBR-E-090-L2
M\ / INPUT cs Mt / OUTPUT
“ c8
35 4MeX12

290
@68h7
{
YT =
i
i [Ha
|og3

T N s
| 5
c2 6 1 S
i T
T O 1S
T 774‘»77 ]
L Il
o3| 8 | 8
C5e7
R+ ¢ 2 C3 C4 C5 C6 C7T ©C8 C9 CI0 Ci11 Ci2
@90 | 4-M5x15, 4-M6x15 219 4 | @70 | 7 | 80 | 120|209 | 9 | 96 |1425
2100 4-M6x15 ©16,019 | 44 | @80 | 7 | 86 | 120 | 209 | 9 | 96 [1425

MYBR-E-090-L1
2115 4-M8x20 019,022,624 | 56.5 | 295 | 10 | 100 | 120 | 214 | 17.5 [108.5| 155

2145 4-M8x20 219022024 60 |@110| 8 | 130 | 120 | 229 | 21 | 112 (1585

#ME 51 WMAR s2 @90 | 4-M5x15 , 4-M6x15 219 4 | @70 | 7 | 80 | 161 [ 250 | 9 | 96 |1425
2100 4-Mx15 216019 | 44 |80 | 7 | 86 | 161 | 250 | 9 | 96 |1425
MYBR-E-090-2

2115 4-M8x20 019,022,624 | 56.5 | 295 | 10 | 100 | 161 | 255 | 17.5 (1085 | 155
2145 4-M8x20 219022024 60 |@110| 8 | 130 | 161 | 270 | 21 | 112 (1585

* CI~CTR AR DIAEERR 2 R, TRIEEAERAMEMN.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised.

® o 0000 0000 0 85



2| =]
BIF + |RE + RS
A 5
5p¥2 R~ E /OUTLINE DIMENSION SHEET
MYBR-E-120-L1
M [ INPUT - CC: 3% / OUTPUT
oc7 5
54 \
}
o
8 & hr— 1 =11 I
Sk s IS
% | 2| | ‘ o o
\ S
*L rJFT 5
S —
[ T
0 1]
| E—— |
cwm| 8
C5er
MYBR-E-120-L2
c9 "
p o i / OUTPUT
HNIR / INPUT "
ocr - o
540 0
>
| |
8 & I 1 N I 11 S A
S8 P & BN
(o]
%8 2] | foy S
n -
i 2 o as °
4»9 T T 8
L1190
——
e 8| 8
Che7
¥y 4 472 /Output Diameter
1000 R+ ¢ @ c3 C4 C5 C6 C7T C8 C9 Clo CH cCf
‘ T oz 915 |  AMBX0 | @19022,024| 64 | @110 | 8 | 130 |1415|2685| 21 |1355] 195
‘ nMi2¢d.75P MYBR-E-120-L1
/\ 8 (a @200 41230 235 | 82 |o1143] 10 | 180 |1415|2035| 28 |1555] 212
| b (" 290 | 4M5x15,4-M6x15 | @19 | 44 | @70 | 7 | 80 | 172 | 279 | 9 | 96 |1555
33206 3206 e S0 MBS 916019 | 44 | 280 | 7 | 86 | 172 | 2719 | 9 | 96 |1555
s st MR 52 o115  4MBx0 | 019.022024| 565 | @95 | 10 | 100 | 172 | 284 | 17.5 |108.5 | 168
o15|  4MBx0 | 219822024| 60 | @110 | 8 | 130 | 172 | 200 | 21 | 112 |1715

* CI-CIR ARIREDAERINZ R T, AIRIEE P ERAMEY.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

86 ® o 0000 000 0 0

BIF + |RE + RS

5pM¥ R ~FE /OUTLINE DIMENSION SHEET

MYBR-E-155-L1

AR | INPUT €9 Hithiss / OUTPUT
84 c8
79
5| 65
| 18
& e )
§ = ©
3
38 3 |l o
o ey | |°
L O 3
=
e
C3F7 8T
Char
MYBR-E-155-12
N co $itHsK / OUTPUT
#IAR / INPUT 4 c8
ocr B 4-M10X20
[ T 2140 =
5| 65 f ) , N
l—--—=1 |8 >\ © ©
§ W:ﬁ} S
§ [ \f\
o ® ©
% 8] © 2
D O
Lt il | rTa )
12 =
L11O 3
[=]
k8
Cbe7

My &h{E /Output Diameter

240n6
WMBEX 1

HARX 52

® o 0000 0000 0 87

o145 4Mex0 @22024 | 72 | o110 | 10 | 130 | 173 | 338 | 205 | 149 | 226
WBREASS a00 | am12x0 235 82 |o1143| 10 | 180 | 173 | 357 | 265 | 160 | 237
I LT 4MB20  |019022,004| 64 | o110 | 8 | 130 | 206 | 365 | 21 |1355| 211

2200  4-M12x30 235 82 |p1143] 10 | 180 | 206 | 390 | 28 |152.5| 228

* CI~CTRATIREDIAERIR Z R~T, AREEFERAMEY.

* C1~CT are motor(metric standard) specific dimensions, which could be customised.




